Device Series: 2200, FL2200, 2200LBR, FI2200LBR
Strike: S300, S301, S460

Surface Vertical Rod Device 2200 & FL2200 Series x Trim Series: Ext Only, CYL Only, 1700, 4900 B EST

1700 & 4900 Trim Hollow Metal Door

dormakaba Group

For online instructions, assistance or warranty information:
Call1-800-382-5208 or visit https://dhwsupport.dormakaba.com/hc/en-us

172 #/4-20 SCREW 716 Firie
REINFORCEMENT REQUIREMENTS HOLE
__TCINFONCEMENT nEQUINEMENTS / HOLE HOLE
PROVIDE ADEQUATE REINFORCEMENT (2) PLS (4) PLS DEVICES TRIMS B C
TO METAL COVERED COMPOSITE AND
HOLLOW METAL DOORS FOR THE DRILLING
IAND TAPPING FOR THE MACHINE SCREWS. I 7+/8 } T ] #10-24 TAP 2201,FL2201 | EXIT ONLY NO
SEX NUTS AND BOLTS INSIDE ONLY 2203.,12203 | cv. ony |, 23/8 DIA INSIDE NO
SEX BOLTS ARE REQUIRED FOR [-3/16 DIA QUTSIDE
PLASTIC, WOOD, METAL COVERED 5 I£/|6 2201,FL2201 1701,490I NO
COMPOSITE AND HOLLOW METAL -
DOORS WITHOUT REINFORCEMENT M 1702,4902
2203.FL2203 | /703.4903 /8 DI
X T MACHINI i I/4 DIA INSIDE  [2208.FL2205 -
:)LE#A-” (4) PL'; ':l;\lD Y7 3/8 DIA OUTSIDE [ooag =rons — THRU DOOR -3/4 DIA
DRILL & TAP 2208.FL2208 | 4908.v4908 AU DOOR
MOUNTING BRACKET FOR 1/4-20 SCREWS (2) PLS 224.FL224 4914 NO
DRILL 3/8 DIA OUTSIDE U FOR SEXBOLTS Zeazes | o
L= 9/32 DIA. INSIDE
3/8 DIA OUTSIDE L
36 oA Oy (=] LOCK STILE MACHINING
REQUIRE SEXBOLTS)
o
HORIZONTAL ¢_ ‘
PREPARE THESE HOLES FOR DEVICE TICAL ¢
AT DEVICE INSTALLATION AND LOCKCASE /—VB? -
(MOUNTING BRACKET) Lt
Rl 2-1/16
° P E % l 6-1/16
l—% - 2-3/4 OR CENTERED T | ?
[ ]
RHR SHOWN - FOR LHR () ON EXPOSED LOCK STILE 30- 2
REVERSE STILE MACHINING | FINISH FLO0R
o e
L AT |
I
OOR EDGE }<+— 25/32 5-7/16
—el—-9/16
e \
\
STRIKE S300 (STANDARD) DRILL & TAP 5%16[3&1% U@g:gg ‘ SERIES TRIM
ROLLER STRIKE S30I (OPTIONAL) FOR 1/4-20 SCREWS (2) PLS i wm,mo A OR C GRIP
FOR SEXBOLTS .| AND 1701 COVER
9/32 DIA. INSIDE PLATE ONLY
3/8 DIA OUTSIDE FOR 1700 SERIES
FINISHED (HC DEVICES . TRIM WITH B GRIP ONLY
FLOOR 374 REQUIRE SEXBOLTS)
2-15/16
STRIKE
5460
le>—5/8 I-3/4
5 THRESHOLD APPLICATION FINISHED ¥
NOTE: FLOOR
"LETTER" AT END OF TRIM MODEL NO. DESIGNATES LEVER LBR DEVICES:
OR GRIP STYLE. EXCEPT AS NOTED, LEVER OR GRIP STYLE OMIT BOTTOM qou MACHINING.
HAS NO EFFECT ON STILE MACHINING. FIRE BOLT REQ'D FOR FL DEVICES

BEST is a trademark of dormakaba USA Inc. ®2021 All rights reserved. T93547_A



